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rGeneral Instructions to Candidates : \

® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.

® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

¢ Usc the ‘cool-off time’ to get familiar with questions and to plan your answers.

® Read questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

¢  When you select a question, all thc sub-questions must be answered from the same
question itself.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

mIBcquasany3 :

* MAglay MaemIa) aosd 15 WG ‘0w Bad §ese’ 9mMewIclon)e. D
TR G2123)6MB0306 DAMPO afPIMICMI, AQIBRAIG}AIW] @RUVAIMIW.
MSODICMI 10S1E).

DOMATBUS af)e)M@IM) B)MI Cald33EBUWY (WELIANAQ alansemo.

af)£J0 G210B8)@BUWBNN)0 DEMAO af)P)®EMo.

630) 62103y Maud DN OHDP}HOMW DO VS ) B E B gighler
9alG2103)6B8)0 BREM C21033MMIAIGE WM MOAN ADONATINS)CHNTNBHIEN).

®  BHaMA MGENDHW, 2N MEBR, (WIN)BW AU OTNACaIgOlE @O
2mM2o1alanema.

Gal0B)6IBUWd ARIVISOIL) o MI3) Vigiand,
@RAUNDYDBB TLLEITI TUENIICYIIBI HDHISIENEMo.
CLaOIMGHWB  DalFIMIDITD  HIWINCEINORHUW asloaw8ss &)

DRIHGSIMD; DaldeMA)o ald1dHIanIEIE HaIcWIU0)0M aldsiel. j

7050

1 P.T.O.


http://ditto.ws

E\)

7050

As a result of

Part -1
ACCOUNTING

the existing agreement of partnership comes to an end and a

new agreement is formed.

(a)
(b)
(c)
(d)

Dissolution
Reconstitution
Acquisition

Revaluation

(Maximum Scores : 40)

(Score: 1)

The following relates to the profit sharing ratio of partners at the time of admission. Fill

up the blanks with suitable words or sentences and / equations.

(a)

(b)
()
(d)

The credit balance of Revaluation Account shows

(a)
(b)
(c)
(d)

Old Ratio = Profit sharing ratio of existing partners (before admission of new

partner)
New Ratio = ?

Sacrificing Ratio = ?

Unless otherwise mentioned, the mutual profit sharing ratio between the existing

-partners will remain unaltered. In that case Sacrifice Ratio = ?

Realization Loss
Profit on sale of Fixed Assets
Revaluation Loss

Revaluation Profit

(Scores : 2)

{Score: 1)

In case of death of a partner, the profit of the firm upto his date of death may be

estimated on the basis of

(a)
(b)
()
(d)

Average sale of last few years
Average drawings of the partner
Average capital of all the partners

Average profit of the last few years

(Score: 1)
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Part -1
ACCOUNTING

(n10m301Ww1 NedHo3aV : 40)

_ 0 ane10®] Mlaalenss a10dSemdala] agWloand” @PAINIMIBS)-:)o
@O 60) af)(VOnad DMROANGW0 HalGIam).

(a) Dissolution

(b) Reconstitution

(¢) Acquisition

(d) Revaluation , (We®ad :

Al w0Slow (aleAIWlaleN)GMIdwd L1068 @RMANMANMIW] MINTWEeq]S;OD]

®™o0?® adosyemiclas)madienl ailg)eand® oVEBUW andlajlee)d. WIHNHEBI,

QU2 IMHEIBERO, D LICAUMMAVHEBI DalBWITA6)D>.

(a) Old Ratio = Profit sharing ratio of existing partners (before admission of new
partner)

(b) New Ratio="?

(c) Sacrificing Ratio = ?

(d) Unless otherwise mentioned, the mutual profit sharing ratio between the existing

partners will remain unaltered. In that case Sacrifice Ratio = ? (nWedodav :

olanelyealsn® @reoDaEleal (&l mioerdmy om av)ailaflesyam).
(a) oOleeselieIvaHm Mayo
(b) ablaval @rauglong alleiamalons eogo

(c) olaeyeAHmM Mayo

(d) olwelyeaiu® g0 (es0ad :

80) a20glR}Os 2eeMoe  Muosaillememiodd, aeimomlend olodlasew)ss
ML INEBING LI0Ge G6MENIBH)ANG) aMm @RSITLOIMBIBHIWIETD. -
(a) &Ploom 50 adausmsgloer allgiaeaileaag wodoweal

(b) amoglvOs WEOWAE] (WIRlouTmy

() amoglag)ns ORIWMOMING (VLA

(d) @Y 3)02)) UGHERSOS LIROINNG VVIWBE] (medad :

1)

2)

1)

1
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If a share of ¥ 10 on which ¥ 8 has been called and ¥ 6 is paid is forfeited, the Capital

Account should be debited with

(a %10
(b) T8
() %6
(d T2

(Score: 1)

It a debenture of ¥ 1,000 is offered at ¥ 1,050, it is a case of issue of debenture at

(a) Discount
(b) Premium
(¢) Face value

(d) Over subscription

Why is premium on the issue of debentures considered as a capital profit ?

(Score: 1)

(Score : 1)

Manu and Vinu are partners in a firm sharing profits in the ratio of 3 : 2. The balance in

their capital and current accounts as on January 1, 1998 where as under :

Capital Account

Current Account (Cr.)

Manu

®

30,000

10,000

Vinu

9]

20,000

8,000
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10 @ja1 mp@iailess, 8 o)l 2@ msomwlges, 6 0ol @RSa B80) HeHWAE

90003201 9219 HVINMBIM 3 0afl9E8 ERHGODME  HALMIlY O2ICQTE )

@ %10
(b) %8
) %6
d) %2

(Wem03 : 1)

1,000 oo miouaileio)ss 686) @sqj@o 1,050 0)at DaHy) 6 21Q)e@I06ME1Gd

aR®1oMm af)(am} alOW)aM.
(a) Discount

(b) Premium

(¢) Face value

(d) Over subscription

DSq|(@EIBUD @any) omggdauowggg (o181lWo 3}30a{1Q@3 Gla10aClgow]

SHOYDANODNDHNE 7

(Wes23 : 1)

(Wead : 1)

amyaie ailmane 3 : 2 @RMald®OMIE3 e19te AlMlenan Al ogle:806Mm. @RAEYOS

& 30a{l0@8 AROVIEICRWe 0" @ReoVMEIcade |-1-1998-0e1 mioeimdavyaud

NP HDHISITMIBIHN AN

Manu

(9]
Capital Account 30.000
Current Account (Cr.) 10,000

Vinu
®
20,000

8.000

P.T.O.



The partnership deed provided that Manu to be paid salary @ ¥ 500 p.m. Whereas Vinu
is to get commission of ¥ 4,000 for the year. Interest on capital is to be allowed @ 6%
p.a. The drawings of Manu and Vinu for the year were ¥ 3.000 and ¥ 1,000
respectively. Interest on drawings for Manu and Vinu works out at ¥ 75 and ¥ 25

respectively.

The net profit of the firm before making these adjustments was ¥ 24,900. Prepare the

Profit & Loss Appropriation Account. (Scores : 6)

9. A, B and C are partners sharing profits and losses in the ratio of 3 : 2 : 1 and on

retirement of C, the various assets and liabilities are revalued as under :

Book Value Revalued Value

Plant & Machinery 3.50,000 4,30,000
Sundry Creditors 1,00,000 90,000
Stock 1,50,000 1,30,000
Pass journal entries 6n revaluation of these assets and liabilities. (Scores : 3)

10. Pass journal entries for the following :

(a) When a new partner is admitted, the amount may be contributed to the capital of
the firm in the form of assets other than cash also. In this context, Mr. Daniel is
admitted as a new partner to a tirm who brings in ¥ 25 lakhs in cash, Fixed Assets

T 12 lakh and Patents ¥ 5 lakh.

(b) A and B are partners in a business sharing profits and losses in the ratio of 3 : 2.

The Profit and Loss Account shows an undistributed profit of ¥ 50,000 and the
L .
General Reserve of ¥ 1,00.000. They admitted a new partner X with an share in

the profits. (Scores : 6)

7050 6
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ad@SemBatila] AW (aldh000 aMAIM 20avo 500 @)al MEGHIGE VuMIBo MEIM:EMo.

aflmyailey aidauemlad 4.000 o)1 S Tlaad M@3HEMo. dyoaflgeila) 6% andarls

MoadIad  aleilva  ermadlaflging.  amyailed@ie  allmyaiedwlo  (WIdlowiad
@20 3,000 1,000  apanleBemwosm.  amyaileid@ie  afimyafleadw)o
(wrdlBmilmas atellve I 75. T 25 aamiamomoay. MM @RASRIIOA)&ud

QUREDM@IN NMRSS TuLIMADIO e19ce T 24.900.

Gl2afld & GRIDM) @RG(AI3A1CWAUM @RAHDENE GIWYINIHN) . (e adad
Q ™ Q )

3:2:1 a)an @RMa0®OMIG3 £1980 AN®IANM althoglé:aoem A, B, C apamiaud.
“C” ayes alledleoen@o@l @eMMINWla] TVICMENBlo  MIDWIMS:B)0  DIOY

DS aMG1HH)M AIBIVIM 0l0ely) H21DD) !

Book Value Revalued Value

Plant & Machinery 3,50.000 4,350,000
Sundry Creditors 1.00.000 90.000
Stock 1.50,000 1,30,000

MIOMANBESW]0  NIDWIDHBIESW)o  0INULILEAHM MSOMIV@ING cRAN©3

af)BS1nUd af)®)m)d. (mSeaadmd

®IN® ODIS)OBIBNBNINAUT B CRATND af)MB(SIHUB af) P} !

(a) ap@©@ ABgElHw  TLOdAINENIG] (alcaiwlalagyemioud me@nmsmﬂmg
dyoafloellmol @300 @rebe® ad  ATTOUDSD:SB)o  OHIME)
QIEOARANDIEM.  MD  qVOa0aleyEmI@, olqud womlew® &0 ol
almoglooam mleidlad 25 pidHo 0o, 12 elddo O)aIWOS abla:auald
@OHAVQLHB)0, 5 RIGHO 0)alWOS GaIQMY” af)AVIAI HD:IEMRIQIYAM).

(b) A, B apamilaud 3 : 2 af)an GRM}IOOGEHIEE e1080 AN@IINMM alths1e:806m.

T 50,000-90) ‘@remanimiislniygs’  eoeano, T 1.00,000-003 ‘mmomd

1
olavudqlo’ 26ME. 80) a™IW alogl “X” om Zaosu@o”lcﬁ (adcawlaflaeyam,.

: 6)

: 3)

(Weda3m0 : 6)
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Anu, Manu and Cinu are partners sharing profit equally. Cinu retires and the goodwill
of the firm is valued at ¥ 54,000. No Goodwill Account appears in the books of the

tirm. Anu and Manu share future profit in the ratio of 3 : 2. Make necessary journal

entry for goodwill. (Scores :

Ani and Bini are partners sharing profits and losses equally. They decided to dissolve
their firm. Assets and Liabilities have been transferred to Realisation Account. Pass

necessary journal entries for the following :

(a) Ani has to bear all the expenses of Realisation for which he was given a

commission of ¥ 4,000.

(b) Creditors of ¥ 40,000 agreed to take over the stock of ¥ 30,000 at a discount of
10%.

(c) Bini agreed to take over investments of ¥ 5,000 at T 4,900.
(d) Loan of ¥ 15.000 advanced by Ani to the firm was paid off.

(¢) Bank loan of ¥ 12,000 was paid otf.

() Debtors realized ¥ 20,000. (Scores :

S & S Ltd. issued 50,00,000 equity shares of ¥ 10 each at a premium of ¥ 4 per share
payable ¥ | per share on application, ¥ 6 per share on allotment (including premium),
T 3 on first call and the balance on final call. These shares were subscribed and all
money due was received except the first call money on 10,000 shares and the final call

money on 15,000 shares. Give the cash book and journal entries to record the above

6)

transactions, (Scores : 8)

OR
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@pm), am), mm) aganlaid e18e LRV AIBIS)AN  AlBOBlo:a0em.  aulm)

aflezleeyemioed  quodaimamlnad madailad 54.000 ©)a1IW]  BEMENIee)aM).
MUOdINERIOG OB M0eadud »)alel @REODME Me). @M, AM)AIo

20l 1980 3 : 2 af)m @RMAODEWIB AUI®eH008 ®10)20M1ay).

mywailells) Grawin0w eRABMD3 af)MB(SldUd af)P)m)d:. (e admd

21080 MEIYBOV] alBr]S)IM ail081d:806M @RMIWe MIMIV)o. ERAIOINS MUNIalMo
Wlequowdal 21900 ®I0)20Mlaf). MITMONS)o MIOWIMHSl0 FTWOHLIGIVAUM

@R VMEICEING 2001, WIOY  HHIS)TNBlANMAUDHS @RHAUWINOW cRAeM@

af)BSIHUB af)9ION D

(a) olweselervaHmd aileial @M Anclenemo, @R@IMoX] 4,000 B)n) @2 1aumd
M@3H:) M.

(b) 40.000 @a1es (@wlegdad 30,000 @jaies eqpoas 10% avlmlssmemnelod
aBOQSIAN)IM].

(©) 5,000 @armns Mledalo 4,900 @}a1dns milm] aBeQs)ee) M.

(d)  @®! cuodaImamId meisl 15,000 0ja1w)es &:So OIS IBHNaD).

(e) 12,000 @)ai)es snides GLIONM @RS MIBoe)am).

() eaweniegdala@d alam 20,000 @)as ei€lanyan). (aSesodad

oD@ & ahqy eilzigal, 10 oyl oeuaileiwias 50,00,000 @:igl oauwo)swd 4 ©)al
(al1Zlwo MleaI@8 gaky) MSEmMAN). | B)al ERCAISUCWINSIajo, 6 @)l ((as1dlwo
0UWq es) @PELINZODY Mo, @REY &0ud T 3 MI0GS] BRAIMIM B:080W@}0 TVIGEIBH)I.
10,000 oo@0)d810s @By @08, 15,000 ©auDOHB)1OS @RAITVIM  &08)o
8919 af)LJ0 MHW)o LIElHN)M).

MY POHAIQEBUT  BOEUNAIS}ATANBIMOUWDIRIW GRAMD ofBSIWo B Y00H

NI AN} MQOOIIN)D:. ' (mSemo3a :

mmg‘gmﬂm‘a
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: 0)

8)

9 P.T.O.



14. The Balance Sheet of Renjith, Ram and Bineesh who are partners in a firm sharing

7050

rofits according to their capitals as on 3 1™ March 2006 was as under :
p £ p

Liabilities Amount Assets Amount
(9] ()

Creditors 25,000 { Machinery 40,000

Bills Payable 13.000 | Building 90,000
General Reserve 22,000 | Debtors 30,000

Capitals : Less : Provision 1.000 29,000

Renjith 60,000 { Stock 23.000

Ram 40,000 | Cash at Bank 18,000

Bineesh 40,000
2,00,000 2,00,000

On the date of Balance Sheet. Bineesh retired trom the firm and following adjustments

were made :

(i)  Building is appreciated by 20%.

(i1) Provision for bad debts is increased to 5% on Debtors.

(1i1) Machinery is depreciated by 10%.

(iv) Goodwill of the firm is valued at ¥ 56,000 and the retiring partner’s share is

adjusted.

(v) The capital of the new firm is tixed at ¥ 1,20,000. Prepare Revaluation Account,

Capital Accounts of the partner and Balance Sheet of the new firm.

10

(Scores : 8)
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DLILM  ERMYAIOORIG3 L1080 alH)AIWHR)MM MO, 000, MIAMIey agf)an?

a1 08le:@)os 31-3-2006 @loalolnar suoai@al o1l ®I6% 6605w 1alea)am) :

Liabilities Amount Assets Amount
® (9]
Creditors 25.000 | Machinery 40,000
Bills Payable 13,000 | Building 90,000
General Reserve 22,000 | Debtors 30,000
Capitals : Less : Provision 1.000 29,000
Renjith 60.000 | Stock 23,000
Ram 40,000 | Cash at Bank 18,000
Bineesh 40,000 ’
2,00,000 2,00,000
enioeIda’  aulg @loolelad mimlsd aledlenm). @6 O@:05)0maleNaM

@RAURIIONF TV I)OMm)aM

(1) omxglsomload afler 20% gweymm).

(i)  eawsniegdmilaag 5% @R &1FoHSTHIMIES HO)MT VAN,

(iii) eaadlmclwes ailer 10% @yowyam;.

Teivia

(iv) madailelaad aller 56,000 ®)ai, allealen}a® al@:oglw)ns Oced @rAREY

Oa1gam).

(V) an@lo cupdaimomlend aeiwme 1,20,000 ojaiwow] @ley@omla)).

01Q10GEIJGAIMMD BRONVNE, Bioaflged @RHODS, meIBW aulg aganlal

DQI0IHN) .

11
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Part-11
COMPUTERISED ACCOUNTING
Accounting packages are developed on the basis of’
(a) Accounting concepts
b) .Accounting conventions
(¢) Accounting conventions and concepts

(d) Computer Language

The intersection of a raw and a column in ‘Excel’ is called

(a) Cell address

“(b)  Cell point

(¢) Range
(d) Cell

Explain any three grouping and codification ot accounts.
Explain the procedure for entering the following transactions :

(1)  Started business with ¥ 12 lakhs.

(i1) Received cash trom Mr. Anandu, a customer T 1.50.000.

(Maximum Scores : 20)

(Score: 1)

(Score: 1)

(Scores : 3)

(Scores : 3)

Explain the procedure to create and display indirect expenses budget. (Scores : 3)

The principal amount of a loan repayable in 10 yearly installments of equal amount is

given in cell A2, rate of interest 2% is given in cell C2. Write formulae to

(a)  Get the principal amount in the installment in cell B2.

(b) The amount of interest in the installment in cell D2.

(¢) Total amount paid in the installment (principal amount + interest) in cell E2.

(d) Principal amount outstanding after paying the installment in F2. (Scores : 4)

12
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Part-11
COMPUTERISED ACCOUNTING

(a10@001w1 NiedHrday ¢ 20)

BRODDEMEY) A ldCINRUB 03 @RSITLCINMIPIE B0 W@},
(a) Accounting concepts
(b) Accounting conventions

(c) Accounting conventions and concepts

(d) Computer Language (VedHIad :

a)SHaIVellad “@00” & “e:080" WOl quoeIomlOm _ af)Mi alo@am).
(a) Cell address

(b) Cell point -

(¢) Range

(d) Cell (M6ed0a3 :

BRONDVENR}DHBIOS aBO@EBLLN0 DYV Lm;gﬁos@m@mm;mggo CHIWlaLlGsaHOHMm-

090110 allos1e:0109) . (Te»I3aV :

®IOY  HDHIS)OMIANN N  HONHDIQEEBUI @mmogsgmg«n@‘lmggg MSals] (ko

ailvon1e:01e) o

(1) 12 elgto 0)a1@0@] Mmilavimqy GRooRlay).

(i) 80} aqad ey dlqpd eemam)aicd mlanye T 1.50,000 eigla)). ((0eHIBXV :

DBWod; aflein] (Bled OagM@IMe Wlaltgl §aYM@IMNSH MSals)

(20 Qfl0E1H:0109) 0. (nSeaaday

10 oely 0odadld: OWeesw] @lelajseanar caanlan (almdavlead @)o

pavad  AZ-all@d  12% aelle eaqumd  (2-ailmd  ommielesan). @iew
05BN HBNMABHS TVAAUIGY 0 AfPID ).

(a) Get the principal amount in the installment in cell B2.
(b) The amount of interest in the installment in cell D2.

(c) Total amount paid in the installment (principal amount + interest) in cell E2.

(d) Principal amount outstanding atter paying the installment in F2. (rded»a3av :

1)

1)

: 3)

4)

13 P.T.O.



7.  Explain the step by step procedure to be followed in preparing Bank Reconciliation

Statement in Tally.
Note : Draw the Final Screen Picture. (Scores : 5)
OR

8.  Prepare a table showing the accounts to be created and the groups under which they fall

and the voucher to be used.
| (i) 2010Jan. 1 Share capital collected by Bank of India ¥ 58.000.
(i) 2010Jan.2  Underwriting commission paid ¥ 26,000.
(ii1) 2010 Jan. 3  Purchased machinery and paid cheque ¥ 18,000.
(iv) 2010Jan.4 Purchased 6% Government bonds and paid by cheque ¥ 24,000.

(v) 2010Jan.5 Deposited to Bank of India ¥ 16,000. {Scores : 5)

7050 14
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g, olseadavlellcwanmd equdoand” soplolad MY0IBHMBs aiSlaislwow)ss
Msals] (2o Qilvas1d:alH0)d:.

GMOg : ERAAVLIMODAD T(&1M alSo UOWEN)D:. (aSeaaday : 5)

@R LI, 1Gd

MNP HMIS)THNBIANAN HORHDIQEAUWBDHN aRODMIND FRHN VNS HUB DEMROBHEMo,
af® (N)al6d 0UWBOQISIAN), aBD AID8 DAIGWOIWILNEMO A BIAVIBNM B0)
algld MQIOIHO) .

(i) 2010, mm). 1  enoes B9af Mamy Meiwmo auldala)y T 58,000.

(i) 2010, =mmy).2  cremdenogled) &mlanmd o:osyamy T 26,000.

(iii) 2010, =m). 3 ©2a:1IMO] QAIEB)EHW]0 Halds) MDMdhBHD)o Oaida T 18,000.
(iv) 2010, mm). 4 6% waismeaad” emioes ol oalae madasl T 24,000.

(v) 2010, mm).5  enios; 80af mamilod mleanaila)y T 16,000.

(eMadav : 5)



